



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(3 - \frac{1}{4}\right)^2 - \frac{1}{6} \times \frac{3}{5} + 2^2 =$$

$$\left(\frac{3}{5} + \frac{1}{6}\right)^2 + \frac{1}{3}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(5 - \frac{3}{2}\right)^2 - \frac{1}{6} + 4^2 + \frac{1}{2} =$$

$$\left(\frac{1}{5} - \frac{1}{3}\right)^2 + \frac{1}{5}\left(\frac{1}{6} - \frac{1}{6}\right) =$$

$$\left(\frac{2}{3} - \frac{2}{5}\right)^2 - \frac{2}{3}\left(\frac{2}{5} - \left(\frac{1}{3}\right)^2\right) =$$

$$\left(\frac{2}{3} - \frac{2}{5}\right)^2 + \frac{1}{2}\left(\frac{3}{5} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{4} + \left(\frac{2}{5}\right)^2\right) \times \frac{3}{5} + \left(\frac{1}{2} - \frac{1}{6}\right)^2 =$$

$$\left(\frac{3}{2} + \frac{1}{2}\right)^2 + \frac{1}{5}\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 + \frac{1}{6}\left(\frac{1}{2} - \frac{2}{5}\right) =$$

$$\left(\frac{3}{4} + \left(\frac{3}{4}\right)^2\right) \times \frac{1}{5} - \left(\frac{1}{2} - \frac{2}{3}\right)^2 =$$



Tên: _____

Ngày tháng: _____ Điểm: _____

$$(3 - \frac{1}{4})^2 - \frac{1}{6} \times \frac{3}{5} + 2^2 = \frac{917}{80} = 11\frac{37}{80}$$

$$(\frac{3}{5} + \frac{1}{6})^2 + \frac{1}{3}(\frac{1}{2} + (\frac{1}{2})^2) = \frac{377}{450}$$

$$(5 - \frac{3}{2})^2 - \frac{1}{6} + 4^2 + \frac{1}{2} = \frac{343}{12} = 28\frac{7}{12}$$

$$(\frac{1}{5} - \frac{1}{3})^2 + \frac{1}{5}(\frac{1}{6} - \frac{1}{6}) = \frac{4}{225}$$

$$(\frac{2}{3} - \frac{2}{5})^2 - \frac{2}{3}(\frac{2}{5} - (\frac{1}{3})^2) = (-\frac{82}{675})$$

$$(\frac{2}{3} - \frac{2}{5})^2 + \frac{1}{2}(\frac{3}{5} + (\frac{1}{2})^2) = \frac{893}{1800}$$

$$(\frac{1}{4} + (\frac{2}{5})^2) \times \frac{3}{5} + (\frac{1}{2} - \frac{1}{6})^2 = \frac{1607}{4500}$$

$$(\frac{3}{2} + \frac{1}{2})^2 + \frac{1}{5}(\frac{1}{3} - (\frac{1}{2})^2) = \frac{241}{60} = 4\frac{1}{60}$$

$$(\frac{1}{2} + \frac{1}{2})^2 + \frac{1}{6}(\frac{1}{2} - \frac{2}{5}) = \frac{61}{60} = 1\frac{1}{60}$$

$$(\frac{3}{4} + (\frac{3}{4})^2) \times \frac{1}{5} - (\frac{1}{2} - \frac{2}{3})^2 = \frac{169}{720}$$